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A HIC5:_ A37:
1002 = 7% 10% =

5x 107 = 6% 10% =

789.8 + 100 = 3807 = 1003 =

100% = 7% 1003 =

5x10 = 8 x 10 =

1072 = 1004 =

402+ 1072 = 1009 =

100D = 1002 =

189.2 + 100D = 1009 =

1072 = 1452 x 100D =
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A HI: BlCb:._ AO7:
1072 = 0.01 7 % 10% = 700

5% 107 = 0.005 6 x 10% = 600

789.8 + 107 = 789800 380.7 + 107 = 380700
107 = 0.0001 7% 107 = 0.007

5% 10 = 50 8 x 10 = 80

1072 = 0.01 107 = 0.0001

402 + 1072 = 40200 107 = 0.001

1077 = 0.1 1072 = 0.01

189.2+ 107" = 1892 107 = 0.0001

1072 = 0.01 1452 x 1079 = 14.52
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